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Section A (25 x 2 marks)
For questions 1 to 25, choose the most suitable answer and sh
or 4) on the Optical Answer Sheet (OAS) provided.
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1. Study the table below. Which of the following is grouped wrongly?
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Living Things ‘\afm fiving Things
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(1 eagle ] cooked egg
(2) jelly _ N ~seed
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2. Which of the followm o pairs describes both hving and non-living things

< — b}

(4) Tt becomes a butterfly. Tt lavs an e2g. |
(B) | It moves when Tl ioms to T1ee the oo, i
| operated by a battery. | -
(C) | It moves away when Tt heeornes a tree. |
| there Is [ure. _
(D) |1t g:woriu".cs ive youny, Tt does not grow. |
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ald paa <3t in 2 cage and gave it cat food daily, After cns week, the cat died,
cause the cat did not have
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Vot
p—g

4. Which of the foliowing 15 a cup fungus?
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shows some properiies of a material,
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8. Why 1s ron a suitable material for making window gniles?
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(&) Ttis heavy.

(B) It sinks in water.

(C) It is hard and strong.
(D) It is shiny and smooth.

(1Y Conly

(2) D only

(3) AandConly

(4) B at D only : (
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7. Weiming found many mosquitoes living 1o his garden.
On a sunny day, he can find the mosquito larva o
(1) onthe leaves of his plants
(2) 1 dark and dry corners
(3) onthe garden path
(4) in his pond O
g. Which of the {ollowing shows the correct order 1ot the growth of & dragontiv? |
{1} egg— nymph —— adult
(2) egg«+— nymph «— aduit
(2} egg-—> larva — pupa —» adult
(4) egz<—— pupa -~— larva ~— zaduit { )
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Graup A f ; Group B }

T o
waterily ] | water byvacinth |
lady’s finger | 'r daffodi
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Which of the following are the carrect he adings for each zroup of olanis?

- Group A Group B L
(4 :‘;mrod uced by bulbs Reproduced by xecd
(2) cnro:x.mcgt?_a\f seeds Reproduced by bu
(3} no plants Non«tio\wrmw ‘lants
N T T ]
CAE Water plants Land | Jlants }
~ “\
{ !
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The tiry openings
(1) are caused by inzects it““dlﬂt on the plan:
(23 allow water 7o evter the plant
(3% are caunsed v z plant discase .
(&) aliow e exchange of gases { )




11, The diagram shows a plant,

,, SOV

The arrows show the path taken by

(1) food

) water

{3) carbon dioxide

(<) sunlight’s energy { 3
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12. Which of the following make up the tra nspoit system of the plant

The tubes 1a the

(A) stem that carry water and mineral sal
(B) roots that carry water am mineral ga
(C) roots that carry food
(D) stem that carty food
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(I) AandD only

(2} Beand C anly

(3) A, BandDonly

(4) A,B,CandD o 3
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13 Jack g holding dowsn Billy as shown.

if Jack continues (n this position, Billy would be in danger because
(1) his muscuiar systern would get weaker
(2} hissieletal %2},;'5': m would not-be abie to support
(3} s respiratory svstem would not be ahis to t'ﬂ\b o nxygen
(4) ris digestive svstem would not be able o break down food { )
14, Studv the classification chart below.
t s
{ Organ systems |
e J
_ I — \ ]
i i Y
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| skt | mouth | { nose i
i > '< i | |
Backbone P gullet | t unas |
; . oo , P -
L X | Y o Z
VWhat should X, ¥ and Z be?
) . ) . .
» { ! ) iy W
. N | b | <
{(H _ ek \Taill itestine | wiadpipe
i2) nuc B blood vessels
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(3) mussie o wmdL \pE 5 neart
{4) | biood vessals | stomach % iibs
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18.

Meili was blindfolded and asked to identify an ohject. Which of the following

would be a likely observation inade by Me

(1) It was fragrant and glowed.

(2) 1t was shiny and had no smell.

(3) It was round, sticky and sweet.

(4) It was yellow and had square patterns on it.
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A, B, Cand D are organs in the digestive system.
Which of the following organs is the mouth:
| Process A EEEE
Water is absorhed. X <X X
Food is grinded. j X SN
Food is digested. TR
Nutrients are absorbed. v X X
(1) A
(2) B
3y C
@ D oo

Tom gobbled up his food and did not chew them well, Which part ¢f hie
digestive system would have to work harder 10 digest his 10od?

gullet

(2) stomach
(3) large intestine

1)
2)
3)
a4\

staall intestine

Digested food 1s absorbed into the.

(1) small intestine ... stomach

(2) biood ...

N

smizil mestine

(3) zkin ... blood vessels
(4) stomach ... guliet
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190 Whieh af the followng st

20, Which one of the following does not bejong to the same qroup as the cest’

(1) joints at the elbow

(3) jonts at the skuij
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(2) joimnts at the finger

(4) iointe at the knee
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21.  Which of the following work together to help us ehimb the staws?

(1) bones and joints only

(2) skin and muscles only

(3) bones and muscles only

(4) bones, joints and muscles anly
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22, Which of the following carn be atmracted by a magnet?

(1) aluminium can (2} copper wire

23, The magnet of a door stopper prevents the doov from starmuming on wizkly davs,

What property of magneis is used?

tagnets altract magnetic matenats,
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Unlike peles of magnels attiact whije Like poles repet.
ivis possible to magnetize and demagnetze magneiie matenal.
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A freely-tuming mapnet alwavs comes to rest in a North-Sceuth diresrion.



Point X ¢f the bar magnet below attracted 15 pins.
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How many pios would Point Y attract?

(1) 2
(2) 1
O
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A poreupine will turn its back and raise its ¢uills when it is aftacked.

What does thigtell ng of the porcupine”

?:"‘

{t kecps the porcupine wann.

(Y

{2) Itprotecis the porcupine irom rain.

{3} 1t helpsthe porouping in its movement.

{(4) T protects the porcupine trom other animals.

For Onestions 26 to 30, please vefer to Booklet K.

Bn of Section A
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Section B (30 marks)
For questions 31 to 42, write the answers in the spaces providsd,

31.  Ben and Sarah were playing near a forest when they szw an ‘obiece as shown,

P Yy

~/

Ben saig, “I think it’s a branc!
Sarah sard, “I think it's an insect!”

(a) Who was correct?

~

()  Give one reason for your answar in part (&).

(¢)  What could Ben and Savzh do to find 00t who was correat?
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Write “T7 i the slatement is true and “F? if it i3 false in e brackets provided
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Plants do not naad o;«ygen becange only
carbon cdhexide i needed for photosynthess,

oy
N

(1) Cur heart 2nd gullet are muscles, ( )
{c) Mould makes its own food from bread. ( )

{(dY A comragss malkes ma of the

earth’s magnetic feld to find directicns., : 3
33, Guohua han a bar mamiet and Peling had a rod magnet,

Both were arguing atout the strength of their magnets.

vuohu.‘.sa.d “Mvy mapnet is s mnger than yours!”

Eailing rephed, "Not Mine is bigger than yours. so 1t°s sironger!”

(8) Underline the correct answer, {im)
{1} Cuohua is corréct  wrong,
(i) Peiing 18 correct S wrong

(b)Y Explain vour answer in part (a), {Zra)

34, Some maierials are nard but not necessarily stong.
Tick hwo ohiects that are hard, but not strong, W)
< - ' BT ~
i Object . Havd but not strong |
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Fill in the blanks with the correct word from ine box.
Each word can only be used once. (3m)

- ) — -
different develop slages extinct

| i
l reproduce cycles contmue s lar 1

P

Animals are all around us.

.

‘To ensure the survival of their own Kind. animals (2)

The young of these antmals (M) o ada

reproduce and the (¢} L o repean. Inthis way, animals will

= Tin vy mqan - -1 E . .
sever become (d) _ . Bowever. uot al life cveles are

rian

{e) _ . Sorne cycles have maore (D)

other cycles.
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The picture shows a seedling.

(a) At thisstags, which part of'the seedling provides it with food o prow”

ik AR
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rart o
(b)Y When the {food 1 part (2) s used up completelv, wivich part will ther
provide food for the seadiing to grow wail? {1y

Part

/2

¢/ P3/8A27 20037 Pape 13 ol 16




(O8]
oL
O
-

LN
(r

AW,

' has 2 non-waody or woody
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| - Non-woody stem ;. Woody stern
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. Xiaohwuiwas given a oot of unusual flowering plant that had 3 fruits. The plan
cann

ol be fonpd 1n Sing
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418 plant, how can Xiaohul grow 2 more pots?

-

hy 15 it nota good idea for Xwohuws to keep her plant in the shade al! the
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39,

40.

Our body is made up of various organ systems.
I1ll in the major functions of each organ system.

- e
Major funclions

skeletal system

digestive ¢ystem

muscular system

The diagram shows our digesive syster.

If Organ A 15 missing, waste that is passed out will be watery.

\

to provide energy.

-

Identify the two crgans and write *A” and ‘R’ in the correct boves.
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If Organ B is missing, digested food cannot be taken to other
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End of Paper
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a) Sarah

b)

c) Thevy could ta < the srick ingect and sut
on their handg aund see whether it moves.
4y 1
32) a) F hy T ey T A% 7
3) 4
33) a) i)
6) 1
1i) wrong
7Y 4
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8) 1
9) 2 2%4) Wocden toothoick
10) 4 disposable plastic spoosn
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13) 2 36) a) b)
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16) 4 2B) =) Take the =zeeds of the fruit and planc it
7)) 2 %) The plant needs sunmlight to gat energy.
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